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P4  $otselimes expcn'rhenls involving success or failure .

rispionses are run in a paired or beforefafier manner.
- fugposc that before a major policy speech by a political
cimdidate,  individuals are selected and asked whether
(. or not (F} they favor the candidate. Then afler the

L. _
The weekly demand for propane gas (in 1000s of
galions) from a particvlar facility is an rv X with pdr

il

swach the same n people are asked the same question. flx) = {2(1 - %) 1gxg2
T1: responses can be entered in a tabie as follows: <
0 otherwise
s After F ;}: 2, Compule the cdf of X,
;% b.  Oblain an expression for the (100p)th pereentile.
o What is the value of g7
S X, X,
_cx Compute E(X) and V(X).
Before ;7‘ d. I 1.5 thousand gallons is in stock at the beginning
Fi X X of the week and ao new supply is due in during U
week, how much of the 1.5 thousand gallons i
expected to be left at the end of the week?
wiee Xy + Xy + Xy + Xy = n Let p, py, py and p,
dencte the four cell probabilities, so that p, = P(S
belre and § afier), and so on. We wish to test the
hi ruthesis that the wue proportion of supporters (5)
afer the speech has not increased against the alternative _
th & it has increased. 75

" A wll bridge charges $1.00 for passenper cars and

£%, 2. State thé two hypotheses of interest in terms of p,. - 10, $2.50 Tor other vehicles. Suppose that during daylime
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Construct an estimalor for the after/before differ.
ence in success probabifities.

When # is large, it can be shown that the rv
(X, = X))/t has approximately a normal distributior,
with variancé givenby (p, + P — (- _nj)zjhr. Use
this to constrict a test statistic with approximately
a standard normal distribution when Ho bs thue

Ifxy = 350, 1, = 150, xy = 200, and x, = 300, wha
do you conclude?

hours, 60% of all vehicles are passenger cars. If 25
vehicles cross the bridge during a particular daytime
period, whal is the resultinp expected toll revenuc?



